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H2CO3 –  CO3

2– –
HCO3

– –
HNO2 –  NO2

– –
HNO3 –  NO3

– –
HPO3 – PO3

– –
H3PO4 – PO4

3– –
HPO4

2– –
H2PO4

– –
H2SO3 –  SO3

2– –
H2SO4 –  SO4

2– –
H2SiO3 – SiO3

2– –
H4SiO4 – SO4

4– –
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Na2B4O7 · 10H2O –  
NaHCO3 –   
Na2CO3 –   
NaOH –  ,   
Na2SO4 · 10H2O – ,   
NaNO3 –   
Fe3O4 –  
NaCl – ,   
Na2S2O3 – « » 
KClO3 –   

aCO3 – , ,  
Ca(OH)2 –   
CaO –   
CaF2 –  
Ca3(PO4)2 –  
CuSO4 · 5H2O –   

u2(OH)2CO3 –  
Cu3(OH)2(CO3)2 –  
FeS2 –  
Fe2O3 –  
MnO2 –  
KAl(SO4)2 · 12H2O –   
SiO2 – ,   
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1)   

4Li + O2 = 2Li2O 

2Al + 3O2 = 2Al2O3 

2Na + O2 = Na2O2 

K + O2 = KO2 

2)   
 + 2 = 2 

3)   
Mg + Cl2 = Mg l2  

2Al + 3Cl2 = 2AlCl3 

2Fe + 3Cl2 = 2FeCl3 

4)   
Ca + S = CaS 

2Al + 3S = Al2S3 

Fe + S = FeS 

5)   
6Li + N2 = 2Li3N  

2Al + N2 = 2AlN 

6)   
3Ba + 2P = Ba3P2 

7)   
4Al + 3C = Al4C3 

8)   ( ) 
2Na + 2 2  = 2Na  + 2  

Ca + 2  = Ca( )2 + 2  

2Al + 6H2O = 2Al(OH)3 + 3H2   
(    ) 

9)    (   ) 

3Fe + 4H2O = (FeIIFeIII
2)O4 + 4H2 
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10)   
2Al + 3H2SO4( .)  = Al2(SO4)3 + 3H2  

Fe + 2S 4( .) = FeS 4 + 2  
11)   ( ,     

) 

Be + 2NaOH + 2H2O = Na2[Be(OH)4] + H2  
2Al + 2NaOH + 6H2O = Na[Al(OH)4] + 3H2  

12)   
Fe2O3 + 2Al = Al2O3 + Fe 

13)   
CuSO4( ) + Fe( .) = Cu( .) + FeSO4( ) 

  
1)   (   , ,  ) 

S + O2 = SO2 
4P + 5O2 = 2P2O5 

C + O2 = CO2 
2)   (   , , ) 

H2 + S = H2S 

3)    
2P + 3I2 = 2PI3 

4)   
3Mg + N2 = Mg3N2 

5)   
Cl2 + H2O = HCl + HClO 

6)   
3Cl2 + 6NaOH = 5NaCl + NaClO3 + 3H2O (  ) 

Si + 2NaOH + H2O = Na2SiO3+ H2 
7)   

Si + 4HF = SiF4 + 2H2 

S + 6HNO3 = H2SO4 + 6NO2 + 2H2O 
8)   

2FeCl2 + Cl2 = 2FeCl3 
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1)   (    -  ) 

K2  + 2  = 2K  

Na2O + H2O = 2NaOH 

 + 2  = ( )2 

2)   

BaO + H2SO4 = BaSO4 

Na2O + 2HCl = 2NaCl + H2O 

3)    

MgO + CO2 = MgCO3 

4)    

Na2O + Zn(OH)2 = Na2ZnO2 + H2O ( ) 

   
1)   (  – SiO2) 

N2O3 + H2O = 2HNO2 

N2O5 + H2O = 2HNO3 

2)    

SO3 + K2  = K2SO4 

CO2 + CaO = CaCO3 

3)   

SO3 + 2NaOH = Na2SO4 + H2O 

CO2 + Ca(OH)2 = CaCO3 + H2O 

4)    

N2O5 + Zn(OH)2 = Zn(NO3)2 + H2O 

5)   

SO2 + Na2SiO3 + H2O = H2SiO3  + Na2SO3 

SiO2 + Na2CO3 = Na2SiO3 + CO2  ( ) 
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1)    

Na2O + Al2O3 = 2NaAlO2 ( ) 
2)    

PbO + SiO2 = PbSiO3 ( ) 
3)   

 + 2Na  = Na2 2 + 2  ( ) 
4)   

Zn  + H2SO4 = ZnSO4 + H2O 

   
1)      

2Cu + O2 = 2CuO 

S + O2 = SO2 

2)      

4 + 2 2 = 2 + 2 2   

2  + 2 = 2 2 

3)    

Mg(OH)2 
t

 MgO + H2O 

6HNO3 + P2O5 = 3N2O5 + 2H3PO4 

4)    

CaCO3 
t

 CaO + CO2 

  
1)   

2NaOH + H2SO4 = Na2SO4 + 2H2O 

2)    

2NaOH + SO3 = Na2SO4 

3)    (  ) 

2KOH + Be(OH)2 = K2BeO2 + 2 2O  ( ) 
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4)    (  ) 

2KOH + BeO = K2BeO2 + 2O  ( ) 

5)   (    -
 ) 

Ca(OH)2 
t

 CaO + H2O 

    
1)      -

  

CaCl2 + 2NaOH = Ca(OH)2  + 2NaCl 

2)        

2Na + 2 2  = 2 NaOH + 2  

Na2  + 2  = 2 NaOH 

  
1)   

 + 2HCl = Cl2 + 2  

 + H2SO4( .) = CaSO4 + H2  

2)   

4HNO3( .) + C = CO2 + 4NO2 + 2H2O 

5HNO3( .) + P = H3PO4 + 5NO2 + H2O  

6HNO3( .) + S = H2SO4 + 6NO2 + 2H2O 

3)    

2HNO3 + MgO = Mg(NO3)2 + H2O 

H2SO4 + Na2O = Na2SO4 + H2O 

4)   

H2SO4 + 2NaOH = Na2SO4 + 2H2O 

2HNO3 + Mg(OH)2 = Mg(NO3)2 + 2H2O 

5)    

ZnO + H2SO4 = ZnSO4 + H2O 
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6)    

3HCl + Al(OH)3 = AlCl3 + 3H2O 

7)   

Na2SiO3 + 2HCl = H2SiO3  + 2NaCl 

Na2S + 2HCl = 2NaCl + H2S  

CaCO3 + 2HCl = CaCl2 + CO2  + H2O 

3( 4)2 + 3H2SO4( .) = 2 3 4 + SO4  

   
1)      

SO3 + H2O = H2SO4 

N2O5 + H2O = 2HNO3 

2)      

Na2SiO3 + 2HCl = H2SiO3  + 2NaCl 

3)    

H2 + Cl2 = 2HCl 

  
1) c  

CuSO4 + Fe = FeSO4 + Cu 

2) c  

CaCl2 + 2NaOH = 2NaCl + Ca(OH)2  

3)   

Na2CO3 + 2HCl = 2NaCl + CO2  + H2O 

4)   

K2SO4 + Ba(NO3)2 = 2KNO3 + BaSO4  
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1)      

Ca + H2SO4( .) = CaSO4 + 2H2O 

2)        

Li2O + HNO3 = LiNO3 + H2O 

BeO + 2HCl = BeCl2 + H2O 

3)     (   -
) 

CsOH + HI = CsI + H2O 

Zn(OH)2 + 2HCl  = ZnCl2 + 2H2O 

4)        
SrO + SO3 = SrSO4 

5)       
( )2 + 2 = 3 + 2  

6)     
Na2SiO3 + 2HCl = H2SiO3  + 2NaCl 

7)     
2KOH + FeCl2 = Fe(OH)2  + 2KCl 

8)      

Pb(NO3)2 + 2NaCl = PbCl2  + 2HNO3 

9)      

2KNO3 = 2KNO2 + O2 

10)     

Ca + S = CaS 

11)       

Zn + CuSO4 = Cu + ZnSO4 
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6. -   
   

 9       -
   -  ,  

      (   
  ,  ,    -

).      ,  – 
. 

-   ( )   
      -

 . 
  

    
  

  -  
 

  -  
 

      

     
-  

 HNO3 NO3
– NO2( )

 HNO3  NO( ) 
  HNO3  NH4

+

-  
 MnO4

– Mn2+

  MnO2 
  MnO4

2–

-  -  
 Cr2O7

2– Cr3+

 CrO4
2– [Cr(OH)6]3– 

    

   : 
Li Rb K Cs Ba Sr Ca Na Mg Be Al Ti Mn Cr Zn Fe Co Ni Sn Pb H Sb 

Bi Cu Ag Hg Pt Au 
  

   : 
Si B Te Ge H P As I Se C S Br Cl N O F 
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FeCl3 
H2SO4 
HNO3 

K2Cr2O7 
KClO3 
KMnO4 

2, F2 

S    
SO2 

KNO2 
HCl 
H2O2 

Al, Ca    
H2S   

K2SO3 
KI 

NH3 

   

•     ,  , 
         
:  

MnO2 + KNO3 + KOH  K2MnO4 + KNO2 + ... 

•      -
,           

:  

Mn+IV – 2e– = Mn+VI 

N+V + 2e– = N+III 

•         
      

   ,      
    :  

Mn+IV – 2e– =  Mn+VI  
N+V + 2e– = N+III  

1 
1

•      :  

MnO2 + KNO3 + KOH  K2MnO4 + KNO2 + ... 

•    ,   ,  
     :  

MnO2 + KNO3 + 2KOH = K2MnO4 + KNO2 + H2O 
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   (Ar) ,      
    

1/12   -12 
   (Mr)      

 ,    -
      -

  
  ,   

  (  , 
   -

   ), 
     

 (    
) 

  ,  
6,02·1023   –  , {N } 

  ( , / )  1     ( -
     

) 

   

  ( ) 
 B,  Ar(B) 

 

Ar(B) = m (  B) / mu,  
 m (  B)  –    B, 

mu –     
mu = 1/12 m (  12 ) = 1,66.10–24  

  B, n(B),  n(B) = N(B) / NA, 
 N(B) –   B, 

NA–    
NA = 6,02.1023 –1 

   B, M(B), 
/  

M(B) = m(B) / n(B), 
 m(B) –  B 

   
 , VM, /  

VM = V(  B) / n(  B) = 22,4 /  
   ( . .) (  

  ) 
    

 , D (  B  2) 
D(  B  2) = (B) / 2 

    
 , D (  B  ) 

D(  B  ) = (B) / 29 

     
  , w( ) 

w( ) = m( ) / m(B) = x . Ar( ) / r(B) =  
= x . M( ) / (B), 

  –        
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 = 101325  (1 ) 

    

 = 273,15  (    t = 0 ) 

  

   : 

 ,    ( )   
 ,     ( ) 

   : 

  ,    , -
         

 : 

          
       

   

aA + bB + ... = dD + eE + ... 

n(A)/a = n(B)/b = ... = n(D)/d = n(E)/e = ... 

        
      /  : 

B
B .

B M

m V
n

M V
  

   :   , 
   ,   -

     . 
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7.   : , , 
.   

 –  .     
  + ( )   – ( - ).    -

    (1.10–7 / ),  .  
 ( )   + ,  –,  -
 ( ó ) –  – ,  +. 
   H+      
 ( ) H3O+. 

     ,    
  (   ).   -

   ,      
(   ).  

  –  ,   
   . 

 –        -
   . 

    
Mg3N2 + 6H2O = 3Mg(OH)2 + 2NH3 (  ) 

PCl5 + 4H2O = H3PO4 + 5HCl (  ) 
   

  –

NaCl = Na+ + Cl– 
Na+ + H2O  
Cl– + H2O

   

Na2S = 2Na+ + S2– 
Na+ + H2O  

S2– + H2O HS– + OH–

  -
 

    

ZnCl2 = Zn2+ + 2Cl– 

Cl– + H2O  
Zn2+ + H2O ZnOH+ + H+

  -
 

 -   
 

, -
  

NH4(CH3COO) = NH4
+ + CH3COO–

NH4
+ + H2O  NH3

 + H3O+ 

CH3COO– + H2O CH3COOH + OH–

         -
,    . 
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- HCO3

– + H2O  H2CO3 + OH–

- HPO4
2–+ H2O  H2PO4

– + OH–

-  HSO4
– + H2O = SO4

2– + H3O+

-  HS– + H2O H2S + OH–

-  HSO3
– + H2O  SO3

2– + H3O+

- H2PO4
– +H2O  HPO4

2– +H3O+

8.     

 9       
    ( ,  )  

     . 
    ( )  -

   (n)    (V);   / . 
    (w)  -

   m(B)    m(p).   -
,     . 

  ,   

   , ( ) ( ) = n(B) / V(p) 
n(B) –   , 
V(p) –   

    , w(B) w(B) = m(B) / m( ) 
m(B) –  ,  
m( ) –   

 , m( ),  m( ) = m(B) + m(H2O) 
m( ) = V( ) . ( )  

( ) –   

 , V( ),  V( ) = m( ) / ( ) 

  

 -
  

     [m (B) = m(B)], 
       :  

[m ( ) = m( ) + m(H2O)] 
  

  
    : [m (B) = m(B)], 

       :  
[m ( ) = m( ) – m(H2O)] 

  -
 

 ,      -
: m (B) = m(B) + m (B)  m ( ) = m( ) + m ( ) 

 -
 

  : [m (B) = m(B) – m( )]  
      :  

[m ( ) = m( ) – m( )],      
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 ,      
         

,       -
. 

       -
,   , B nH2O,    ( ) 

  : m(H2O) = mp-pa – m .,  m  –  
, .  ,   ( ) -

   ( )  , . .  

m / M  = m / . 
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  (C ) 

 1. 
    -

  NaxSyOz qH2O        
36,3%,  – 18,5%,  – 19,4% (     -

 ).     x, y, z, q,    -
. 

. 
      

  , ,     : 
M(N ) = 23 / ; 
M(S) = 32 / ; 
M(O) = 16 / ; 
M(H2O) = 18 /  

   : 
w(S) = 1  w(Na)  w(O)  w(H2O) =  

= 1 – 0,185 – 0,194 – 0,363 = 0,258 = 25,8% 
 : 

x : y : z : q = [w(Na)/M(Na)] : [w(S)/M(S)] : [w(O)/M(O)] =  
= [18,5/23] : [25,8/32] : [19,4/16] : [36,3/18] = 0,804 : 0,806 : 1,21 : 2,02. 

  x, y, z, q     : 
x : y : z : q=[0,804/0,804] : [0,806/0,804] : [1,21/0,804] : [2,02/0,804] =  

= 1 : 1 : 1,5 : 2,5. 
 ,    : 

x : y : z : q = (1 : 1 : 1,5 : 2,5)×2 = 2 : 2 : 3 : 5. 
   Na2S2O3 5H2O. 

: Na2S2O3 5H2O. 
 

 2. 
  –   (II) – -

     .       
10%-    (II).   -

 ( )    ( ),     -
 10   . 

. 
   ; 

w(FeSO4) = m(FeSO4) / m(p) 
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: 
m(FeSO4) = w(FeSO4)×m(p) = 0,1×10000 = 1000 . 

     -
: 

m(FeSO4)/M(FeSO4) = n(FeSO4) = n(FeSO4 7H2O) = 
= m(FeSO4 7H2O/M(FeSO4 7H2O). 

M(FeSO4) = 56 + 32 + 4×16 = 152 / ; 

M(FeSO4 7H2O) = 152 + 7×18 = 278 / . 

m(FeSO4 7H2O) = M(FeSO4 7H2O)×m(FeSO4)/M(FeSO4) = 
278×1000/152 = 1830  = 1,8 . 

        
 .      -
,    : 

m(p) = m(FeSO4) + m(H2O) = m(FeSO4 7H2O) + m (H2O). 

m  (H2O) = m(p) – m(FeSO4 7H2O) = 10  1,83 = 8,17 . 

   (H2O) = 1000 /  = 1 / ,   

V(H2O) = m (H2O)/ (H2O) = 8,17  ~ 8,2  

: 1,8 ; 8,2 . 

 3. 
500  25%-      1,25 /  

   400 .    (%)  
   . 

. 
  : 

w (NaOH) = m(NaOH)/{V (p)× }. 

  : 

w (NaOH) = m(NaOH)/m (p). 

       -
 ,      : 

w (NaOH)×m (p) = m(NaOH) = w (NaOH)×V (p)× . 

: 
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w (NaOH) = w (NaOH)×V (p)× /m (p) = 0,25×500×1,25/400 = 0,39 = 39% 

: 39% 

 4. 
 126  30%-   (  1200 / ) 

 .   ( )    (1 
/ )     ? 

. 
  : 

2HNO3 + Ba(OH)2 = Ba(NO3)2 + 2H2O 

  : 

 n(HNO3)/2 = n{Ba(OH)2}/1 (1) 

        
: 

n(HNO3) = m(HNO3)/M(HNO3) = w(HNO3)×V(p-p HNO3)× (p-p 
HNO3)/M(HNO3) = 0,3×0,126×1200/63 = 0,72 . 

   : 

c{Ba(OH)2} = n{Ba(OH)2}/V{p-p Ba(OH)2}, 

n{Ba(OH)2} = c{Ba(OH)2}×V{p-p Ba(OH)2} = 1×V{p-p Ba(OH)2}. 

        -
(1): 

0,72/2 = V{p-pBa(OH)2} ; 

V{p-pBa(OH)2} = 0,36  = 360 . 

: 360 . 

 5. 
 ,      

40  . 
. 

       
  ,      : 

 n( ) = m( ) / M( )  (1)  

 n( ) = V( ) /VM  (2) 
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  (1)  (2) ,     , 
,    : 

m( ) / M( ) = V( ) /V   
:  

V( ) = m( ) ·V  / M( )  

V(He) = 40 · 22,4 : 4 = 224  

 : [ ] · [ / ] : [ / ] = [ ] 
:    224  

 6. 
     [Ne]3s23p3. -

  ,     ,   -
 .  

. 
 ,   ,  -

,   ,    – 3.  -
      , 

    3s23p3.  , 
    5. 

:  3,    5 

 7. 
      49, 38  

3    .  
. 

      
       -

 . 
Z = 49   [Kr, 4d10]5s25p1.   s-  p-   3 

,     IIIA-   
.        -

   : (+III).     -
   (–II),   : 2 3.  

Z = 38   [Kr]5s2.   , -
     : 5 , II -

.     : .  
Z = 3   [He]2s1.    I -   

, ,   : 2 . 
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 8. 
        

  ,  ,   -
    - . 

. 
  : NH4 

+ 

   (+I).    N:  
 + 4 . (+1) = +1;  = –4 . (+1) +1 = –3;  

   (–III) 
    4,     

      4  . 
 ,    -  

       
    ,     .  

        . 
 –    (2s2),    –  
 ,     . 
-      ,      

 . 
:    –III;    4, 

  4,      . 

 9. 
  ,    

  

4  4 10  3 4  3( 4)2  3 4. 

. 
  : 

P4 + 5O2 = P4O10 

P4O10 + 6H2O = 4H3PO4 
2H3PO4 + 3Ca(OH)2 = Ca3(PO4)2  + 6H2O 

Ca3(PO4)2( ) + 3H2SO4 = 3CaSO4  + 2H3PO4  
      -

 ;      
   .  

 



 37

 10. 
 300    (c = 0,03 / )  300 

   (c = 0,015 / ).     -
 ?    . 

. 
       

: 

 3 ( )2 + 2 3 4 = 3( 4)2 + 6 2   (1) 

 ( )2 + 3 4 = 4 + 2 2   (2) 

 ( )2 + 2 3 4 = ( 2 4)2 + 2 2   (3)  

 3 ( )2 + 3 4 = ( )3 4 + 3 2   (4)  

    : (B) = n(B) / V(p)  

n(H3PO4) = (H3PO4) · V(p. H3PO4) = 0,03 · 0,3 = 0,009  

n{Ba(OH)2} = {Ba(OH)2} · V{p. (Ba(OH)2} = 0,015 · 0,3 = 0,0045  

  ,   3 4  2   -
 ( )2, . .     (3)  -

   –  : 

{ ( 2 4)2} = 137 + (2 + 31 + 64) · 2 = 331 /  

   (3):  

n(Ba(H2PO4)2 = nBa(OH)2) = 0,0045  

m(Ba(H2PO4)2) = n(Ba(H2PO4)2 · M(Ba(H2PO4)2 =  
= 0,0045 · 331 = 1,49   1,5  

 11. 
  ,    -

  ,       
  ,    0,02   

1) HMnO4 2) H2SO4 3) NaOH 4) Ba(OH)2 
. 

1) HMnO4 = MnO4
– + H+ 

  – , ;   
  . 

  : (H+) = (HMnO4) = 0,02 /  
2) H2SO4 = SO4

2– + 2H+ 
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  – , ;    
 .  

  : (H+) = 2 (H2SO4) = 0,04 /  
3) NaOH = Na+ + OH– 

  – ,    ( -
),     . 

  : (OH–) = (NaOH) = 0,02 /  
4) Ba(OH)2 = Ba2+ + 2OH– 

  – ,    ( -
),     . 

  : (OH–) = 2 (BaOH) = 0,04 /  

 12. 
  ( ) ,    -

      , 
  0,03  .  

. 
  : 

H2O2 + HI = 

H2O2 + 2H+ + 2e– = 2H2O          1 

2I– – 2e– = I2               1 

H2O2 + 2H+ + 2I– = 2H2O + I2 

H2O2 + 2HI = 2H2O + I2 

        : 

n(H2O2)/1 = n(I2)/1 = m(I2) / M(I2) 

: m(I2) = M(I2) · n(H2O2) = 254 · 0,03 = 7,62  

 13. 
  4     ,   -

  7,64   .   
  (%),       

 90%.  
. 
  : 

SiO2 + 2KOH = K2SiO3 + H2O  

  : n(SiO2) = n(K2SiO3)  
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      :  
w(SiO2) = m(SiO2) / m( ) = n(SiO2) · M(SiO2) / m( ) 

:  
n(K2SiO3 .) = n(SiO2) = m(SiO2) / M(SiO2) =  

=w(SiO2) · m( ) / M(SiO2) =  0,9 · 4000 / 60 = 60  
n(K2SiO3 .) = m(K2SiO3 .) / M(K2SiO3) = 7640 / 154 = 49,61  

(K2SiO3) = n(K2SiO3 .) / n(K2SiO3 .) = 49,61 / 60  =  
= 0,827 = 82,7% 

:     82,7% 

 14. 
  320    ,    

  ,  1000  25%-   -
  (  1,28 / ).   (%) -
  .  

. 
 : 

 4FeS2 + 11O2 = 8SO2 + 2Fe2O3  (1) 

 SO2 + 2NaOH = Na2SO3 + H2O  (2) 

   (2): n(NaOH) / 2 = n(Na2SO3) /1 

n(NaOH) = m(NaOH) / M(NaOH) =  
= w(NaOH) · V (  NaOH) · (  NaOH) / M(NaOH) = 

= 0,25 · 1000 · 1,28 / 40 = 8  

         
       :  

N(S) = N(Na2SO3) = n(Na2SO3) · NA 

  FeS2       S. 
: n(FeS2) · NA = N(FeS2) = N(S) / 2 = n(Na2SO3) · NA / 2 

m(FeS2) = M(FeS2) · n(FeS2) = M(FeS2) · n(Na2SO3) / 2 =  
= M(FeS2) · n(NaOH) / 2 · 2 = 120 · 8 / 4 = 240  

m( ) = m( ) – m(FeS2) = 320 – 240 = 80  
w( ) = m( ) /m( ) = 80 / 320 = 0,25 = 25% 

:      25% 
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 15. 
       -

  .    29,8  
    2,24   ( . .).   

 (%)    .  
. 

 : 

 K  + HCl = KCl + H2O  (1) 

 KHCO3 + HCl = KCl + H2O + CO2   (2) 

     ,   –   -
 (2): 

n(KHCO3) = n(CO2) = V(CO2) / V  = 2,24 / 22,4 = 0,1  
n2(KCl) = n(CO2) = 0,1  

n(KCl) = m(KCl) / M(KCl) = 29,8 / 74,5 = 0,4  

   (1):  n(K ) = n1(KCl) = n(KCl) – n2(KCl) = 
0,4 – 0,1 = 0,3  

: m(K ) = M(KOH) · n(K ) = 56 · 0,3 = 16,8  

m(KHCO3) = M(KHCO3) · n(KHCO3) = 100 · 0,1 = 10  

      :  

w(KHCO3) = m(KHCO3) / m(KHCO3) + m(K ) = 10 / (10 + 16,8) = 
= 0,373 = 37,3%  37% 

:        37% 

 16. 
  ,       

7,71    .      
  .     

12,37 .        -
  .     4,66 . -

   (%)     .  
. 

 : 

 KBr + AgNO3 = AgBr  + KNO3  (1)  

 NaCl + AgNO3 = AgCl  + NaNO3  (2)  

 BaCl2 + 2AgNO3 = 2AgCl  + Ba(NO3)2  (3)  
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 Ba(NO3)2 + H2SO4 = BaSO4  + 2HNO3  (4) 
   (4)  (3): 

n(BaSO4) = n{Ba(NO3)2} = n(BaCl2) = n3(AgCl) =  
= m(BaSO4) / M(BaSO4) = 4,66 / 233 = 0,02  

   (1), (2)  (3): 
n1(AgBr) = n(KBr) 
n2(AgCl) = n(NaCl) 

n3(AgCl) = 2n(BaCl2)  

m( ) = m1(AgBr) + m2(AgCl) + m3(AgCl) = 
= M(AgBr) · n1(AgBr) + M(AgCl) · n2(AgCl) + M(AgCl) · n3(AgCl) =  

= M(AgBr) · n(KBr) + M(AgCl) · n(NaCl) + M(AgCl) · 2n(BaCl2) 

  : 
m( ) = m(KBr) + m(NaCl) + m(BaCl2) =  

= M(KBr) · n(KBr) + M(NaCl) · n(NaCl) + M(BaCl2) · n(BaCl2) 
: n(KBr) = x n(NaCl) = y 
  ,   x  y     

   ,       -
  x. 

12,37 = 188 x + 143,5 y + 143,5 · 2 · 0,02 = 188 x + 143,5 y + 5,74 
7,71 = 119 x + 58,5y + 208 · 0,02 = 119 x + 58,5y + 4,16 

12,37 – 5,74 = 6,63 = 188 x + 143,5 y  
y = (6,63 – 188 x) / 143,5  

7,71 – 4,16 = 3,55 =119 x + 58,5y = 119 x + 58,5 · (6,63 – 188 x) / 143,5 
3,55 =119 x + 2,7 – 76,64x  

x = (3,55 – 2,7) / (119 – 76,64) = 0,85 / 42,36 = 0,02  
n(KBr) = 0,02 ; m(KBr) = M(KBr) · n(KBr) = 119 · 0,02 = 2,38   

w(KBr) = m(KBr) / m( ) = 2,38 / 7,71 = 0,3087 = 30,87%  30,9% 
:   (%)      30,9% 

 17. 
 (II)  140,8    

.     .   
  (IV)     400  

25%-    .    
   / .  
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. 

FeS + 2HCl = FeCl2 + H2S     2 (1) 

2H2S + 3O2 = 2H2O + 2SO2    (2) 

SO2 + 2NaOH = Na2SO3 + H2O   2 (3) 

  : 
n(NaOH) / 4 = n(FeS) / 2  

 n(NaOH) = 2n(FeS) 
   :  

m(NaOH) / M(NaOH) = 2m(FeS) / M(FeS) 

      : 

w(NaOH) = m(NaOH) / V(p NaOH) · (p NaOH) 

:  

w(NaOH) · V(p NaOH) · (p NaOH) / M(NaOH) = 2m(FeS) / M(FeS) 

(p NaOH) = M(NaOH) · 2m(FeS) / M(FeS) · w(NaOH) · V(p NaOH) =  
= 40 · 2 · 140,8 / 88 · 0,25 · 400 = 1,28  /  

 : [ / ] · [ ] / [ / ] · [ ] = 1,28  /  
:  ( / )    1,28  /  

 18. 
  16,25     71,4   -

    33,8%   1,4 / .   
  125        

33,8%.    ,   
   ( ).  

. 
 : 

 4Zn + 5H2SO4 = 4ZnSO4 + H2S  + 4H2O  (1) 
 ZnSO4 + BaS = ZnS  + BaSO4  (2) 

   ,    -
:  

n(H2SO4) = m(H2SO4) / M(H2SO4) = w(H2SO4) · m(p H2SO4) / M(H2SO4) = 
= w(H2SO4) · V(  H2SO4) · (  H2SO4) / M(H2SO4) =  

= 0,35 · 69,5 · 1,26 / 98 = 0,3125  
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n(Zn) = m(Zn) / M(Zn) = 16,25 / 65 = 0,25   

   (1):   

n(Zn) / 4 = n(H2SO4) / 5  

n(Zn) / 4 = 0,25 / 4 = 0,0625 

n(H2SO4) / 5 = 0,3125 / 5 = 0,0625 

  ,         -
 . : 

n(ZnSO4) = n(Zn) = 0,25   

n(BaS) = m(BaS) / M(BaS) =w(BaS) · m(p BaS) / M(BaS) = 
= 0,338 · 125 / 169 = 0,25  

,   (2):   

n(ZnSO4) = n(BaS) = n(ZnS) = n(BaSO4) = 0,25  

m(ZnS) = n(ZnS) · M(ZnS) = 0,25 · 97 = 24,25  

m(BaSO4) = n(BaSO4) · M(BaSO4) = 0,25 · 233 = 58,25  

: m(ZnS)= 24,25 ; m(BaSO4) =58,25  

 19. 
 220   (II)  77,6    -

   .    -
   (II).   ( ) 10%-  -

   (  = 1 / ),    -
 .  

. 
 : 

 FeS + 2HCl = FeCl2 + H2S   (1) 

 ZnS + 2HCl = ZnCl2 + H2S   (2) 

 H2S + CuSO4 = CuS  + H2SO4  (3) 

   (1): 

n1(H2S) = n(FeS) = m(FeS) / M(FeS) = 220 / 88 = 2,5  

   (2): 

n2(H2S) = n(ZnS) = m(ZnS) / M(ZnS) = 77,6 / 97 = 0,8  
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n(H2S) = n1(H2S) + n2(H2S) = 2,5 + 0,8 = 3,3  

   (3): 

n(H2S). = n(CuSO4) = 3,3  

      : 

w(CuSO4) = m(CuSO4) / m(p CuSO4) =  
=M(CuSO4) · n(CuSO4) / V(p CuSO4) · (  CuSO4) 

:  

V(p CuSO4) = M(CuSO4) · n(CuSO4) / w(CuSO4) · (  CuSO4) =  
= 160 · 3,3 / 0,1 · 1,1 = 4800  = 4,8  

:     4,8  

 20. 
 12   , ,    (II). 

      -
 4,032  ( . .) ,     -

 3,36 .    (%)  (II)  -
 .  

. 
 ( )  ,    

  ,     . 

 2Al + 6HCl = 2AlCl3 + 3H2   (1) 

 CuO + 2HCl = CuCl2 + H2O  (2)  

   (1):   

V(H2) / 3VM = n(H2) /3 = n(Al) /2 = m(Al) / 2M(Al) 

:  

m(Al) = 2M(Al) · V(H2) / 3VM = 2· 27 · 4,032 / 3 · 22,4 = 3,24  

m( ) = m(Al) + m(Si) + m(Cu) + m(CuO) 

m(CuO) = m( ) – m(Al) – m(Si) – m(Cu) =  
= m( ) – m(Al) – m( ) = 12 – 3,24 – 3,36 = 5,4  

w(CuO) = m(CuO) / m( ) = 5,4 / 12 = 0,45 = 45% 

:   (%)  (II)    
 45% 
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 21. 
 100  25%-      1,390 /  

     .   
( , . .)  .  

. 
   :  

MgI2 + Cl2 = MgCl2 + I2  

I– –        Cl2 –  

    Cl2   MgI2: 

m(MgI2) / M(MgI2) = n(MgI2) = n(Cl2) = V(Cl2) / VM 

,  
V(Cl2) =. VM · m(MgI2) / M(MgI2) 

    : 

m(MgI2) = w(MgI2) · m(p) = w(MgI2) · V(p) ·  =  
= 0,25 · 100 ·1,390 = 34,75   

 : [ ] · [ / ] = [ ] 

V(Cl2) =. VM · m(MgI2) / M(MgI2) = 22,4 · 34,75 / 278 = 2,8   

 : [ / ] · [ ] / [ / ] = [ ] 
:  ( , . .)    2,8   

 22. 
    20%-    -

(II)  250 .      -
  2 .   ( )     

.  
. 

 : 

CuSO4 + Fe = Cu + FeSO4 

      -
 ;         . 

        
 ,        . 

 ,      
  . 
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m = m(Cu) – m(Fe) = M(Cu) · n(Cu) – M(Fe) · n(Fe) 

:  

n(Cu) = n(Fe) = ; 

 :  

2 = 64  – 56  = 8 ;  

 = 0,25  

n(Cu) = n(Fe) = n(CuSO4) = 0,25  

      n (CuSO4) – -
       n (CuSO4)  -

  ,    n(CuSO4) 

n (CuSO4) = n (CuSO4) – n(CuSO4) 

n (CuSO4) = m (CuSO4) / M(CuSO4) = 
= w (CuSO4) · m ( , CuSO4) / M(CuSO4) = 0,2 · 250 / 160 = 0,31  

n (CuSO4) = n (CuSO4) – n(CuSO4) = 0,31 – 0,25 = 0,06  

:  ( )      
 0,06  

 23. 
  10,3 ,   ,   , -
   .    

4,48   ( . .).       -
   ,  6,4 .  -
  (%)    .  

. 
  ,    : 

 Cu + HCl  Mg + 2HCl = MgCl2 + H2  (1) 

 2Al + 6HCl = 2AlCl3 + 3H2   (2) 

   : 

n1(H2) / 1 = n(Mg) / 1 

n2(H2) / 3 = n(Al) / 2 

n2(H2) = 3n(Al) / 2 
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n1(H2) + n2(H2) = V(H2) / VM = 4,48 / 22,4 = 0,2  

m(Mg) + m(Al) = m( ) – m(Cu) = 10,3 – 6,4 = 3,9  

n1(H2) + n2(H2) = n(Mg) + 3n(Al) / 2 = 0,2 

m(Mg) + m(Al) = M(Mg) · n(Mg) + M(Al) · n(Al) = 3,9 

:  

n(Mg) = x; n(Al) = y 

     . 

x + 3y / 2 = 0,2 

24x + 27y = 3,9 

x = n(Mg) = 0,05 ;  

y = n(Al) = 0,15  

w(Al) = m(Al) / m( ) = M(Al) · n(Al) / m( ) = 
= 27 · 0,15 /10,3 = 0,39 = 39% 

:   (%)      39% 

 
 24. 

  ,    

Zn  ZnO  ZnSO4  ZnCl2  K2[Zn(OH)4] 

. 

2Zn + O2 = 2ZnO 

ZnO + H2SO4 = ZnSO4 + H2O 

ZnSO4 + BaCl2 = ZnCl2 + BaSO4 

ZnCl2 + 4KOH = K2[Zn(OH)4] + 2KCl 

 25. 
     (%),   -

  42,5  LiCl    9,52   ( . .).  
. 

2LiCl = Cl2  + 2Li  
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   : 

n1(Cl2)  = 0,5n(LiCl) = 0,5 . 42,5 / 42,5 = 0,5  

(Cl2)  = V(Cl2) / VM = 9,52 / 22,4 = 0,425  

     : 

 = n(Cl2)  / n(Cl2)  = 0,425/ 0,5 = 0,85 = 85% 

:     85% 

 26. 
    4 ,    

     :  , 
 ,  ,  . 

: 

CaCO3 + CO2 + H2O = Ca(HCO3)2 

CaCO3 + 2HCl = CaCl2 + CO2 + H2O 

CO2 + 2KOH = K2CO3 + H2O 

CO2 + KOH = KHCO3 

KOH + HCl = KCl + H2O 

 27. 
  2,24  ( . .)   20  10%-   

 (  1,070 / ).     
   .  

.  
2NH3 + H2SO4 = (NH4)2SO4

 

   : 

n(H2SO4) / 1 = n{(NH4)2SO4} / 1 = n(NH3) / 2  

       -
   : 

n(H2SO4) = m(H2SO4) / M(H2SO4) =  
= w(p, H2SO4) . V(p, H2SO4). (p, H2SO4) / M(H2SO4) =  

= 0,1 . 20 . 1,070 / 98 = 0,022   

n(NH3 = V(NH3) / VM = 2,24 / 22,4 = 0,1  
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  ,     

m{(NH4)2SO4} = M{(NH4)2SO4} . n{(NH4)2SO4} = 132 . 0,022 = 2,9  

m(p) = V(p, H2SO4) . (p, H2SO4) + m(NH3) =  
= 20 . 1,070 + 0,022 . 2 . 17 = 22,15  

w{(NH4)2SO4} = m{(NH4)2SO4}/ m(p) = 2,9 / 22,15 = 0,13 

:        0,13.  

 28. 
  ,    3,36  

 ( . .)  10  20%-    (  1,070 / ).  
.  

2NH3 + H2SO4 = (NH4)2SO4
 

   : 

n(H2SO4) / 1 = n{(NH4)2SO4} / 1 = n(NH3) / 2  

       -
   : 

n(H2SO4) = m(H2SO4) / M(H2SO4) = w(p, H2SO4) . V(p, H2SO4) . (p, 
H2SO4) / M(H2SO4) = 0,2 . 10 . 1,070 / 98 = 0,022   

n(NH3 = V(NH3) / VM = 3,36 / 22,4 = 0,15  

  ,     

m{(NH4)2SO4} = M{(NH4)2SO4} . n{(NH4)2SO4} = 132 . 0,022 = 2,9  

:     2,9  

 29. 
   10,4      200  20%-

   (  1,14 / ).  4,48   
( . .).    CaMg(CO3)2  . 

. 
    
aMg(CO3)2 + 2H2SO4 = aSO4  + MgSO4 + 2CO2  + 2H2O:  

n( aMg(CO3)2) / 1 = n(H2SO4 ) / 2 = n( aSO4 ) / 1 = n(MgSO4) = n(CO2) / 2  
n(H2SO4) = w(H2SO4) V(p. H2SO4) (p. H2SO4) / M(H2SO4) =  

= 200 . 0,2 . 1,14 / 98 = 0,465  
n(CO2) = V(CO2) / VM = 4,48 / 22,4 = 0,2  
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   ,    . 

w( aMg(CO3)2) = m( aMg(CO3)2) / m( ) = 
= n( aMg(CO3)2) . M( aMg(CO3)2) / m( ) = 

= n(CO2) . M( aMg(CO3)2) / 2 m( ) = 0,2 . 184 / 2 . 20,4 =  
= 0,90 = 90% 

:   CaMg(CO3)2    90% 

 30. 
 100  5,6%-      224  

 (IV).       
. 

. 

n(KOH) = w(KOH) . m( , KOH) / M(KOH) = 0,056 . 100 / 56 = 0, 1  

n(SO2) = 10  ( ) 

SO2( ) + KOH( ) = KHSO3 

   :  

n(SO2) = n(KOH) = n(KHSO3) 

m(SO2) / M(SO2) = m(KOH) / M(KOH) = m(KHSO3) / M(KHSO3) 

m(KHSO3) = M(KHSO3) . m(KOH) / M(KOH) = 120 . 5,6 / 56 = 12  

m(SO2) = M(SO2) . m(KOH) / M(KOH) = 64 . 5,6 / 56 = 6,4  

w(KHSO3) = m(KHSO3) / m( , KHSO3) = 
= m(KHSO3) / [m( , KOH) + m(SO2)] = 12 / (100 + 6,4) = 0,113 

:     KHSO3  0,113 



 51

    
«   » 

1.       )N  N3+ ) C  
C4–.         . (15 ). 

. 
)       

  : Z(N) = 7.      
       . 

       . 

1s22s22p3  [He] 2s22p3  

   V - ,    -
     5 . 
  N3+ 3   ,     

2 - ,        
    

1s22s22p0  [He] 2s22p0  

)       
  : Z(N) = 6.      

       . 
       . 

1s22s22p2  [He] 2s22p2  

   IV - ,    -
     4 . 
  C4–  4  ,   -

   2 - ,     
       

1s22s22p6  [He] 2s22p6 . 

2.      , -
 .        -

     ?  
CaCO3, P2O5, K2SO3, HNO3. (25 ). 

. 
CaCO3 – ( . . +II), ( . . +IV) O( . . –II)  , 

 .  . 
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 , : 

CaCO3 + 2HCl = CaCl2 + H2O + CO2 

P2O5 P(( . . +V), O( . . –II)  (V)   -
,  .     -

       –II. 
      

  : 
P2O5 + 3NaOH = Na3PO4 + 4H2O 

P2O5 + 3Na2O = 2Na3PO4 

    ,   -
 ( )  

P2O5 + 3H2O = 2H3PO4  
K2SO3 K( . . +I), S( . . +IV) O( . . –II)  ,   
HNO3 H( . . +I), N( . . +V) O( . . –II)  ,  

  .      , 
    ( )  .  
. 

   ,   -
  . 

8HNO3( ) + 3Cu = 3Cu(NO3)2 + 2NO + 4H2O 

2HNO3 + C(OH)2 = C(NO3)2 + 2H2O 

2HNO3 + CO = C(NO3)2 + 2H2O 

3.   ,     -
  .  

          

  ( )  ,   
4,8  . (20 )  

. 
 –      
         -

  : 

Mg + H2O4( ) = MgO4 + H2 
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   ,    -
   .  

4Mg + 5H2SO4( ) = 4MgSO4 + H2S + 4H2O 

      
      – : 

MgSO4 + 2NaOH = Mg(OH)2 + H2SO4  

       -
   : 

Mg (OH)2  MgO + H2O 

 :  
   : 

n(Mg) = n(Mg SO4) = n(Mg (OH)2) = n(MgO)= m (Mg) / M(Mg)=  
= 4,8/24 =0,2  

:  ( )   0,2 .  

4. ,  5,6 ,     -
.     168  5%   

.   ( )  . (20 ) 
. 

  : 

Fe + H2SO4( ) = FeSO4 + H2 (1) 

FeSO4 + 2KOH = Fe(OH)2 + K2SO4 (2) 

       -
      .  -

    (1). 
n(Fe) = m (Fe) / M(Fe) = 5,6/56 = 0,1 ,   , 
      (II).  

    .    
     .    

   .  

w (KOH) = m (KOH) / m  (KOH) ;  

m (KOH) = w (KOH) · m  (KOH) = 168 · 0,05= 8,4  

   ,     -
: 
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n(KOH) = m (KOH) / M(KOH) = 8,4/56=0,15  

     (2),  -
,      ,    
  , . .   (II). 

n(FeSO4) = n(Fe(OH)2 = 0,1 . 

     (II) 

m (Fe(OH)2) = n(Fe(OH)2)  M(Fe(OH)2) = 0,1  90 = 9 . 

:  ( )    (II) 9 . 

5.         50  -
 1    ( . .).    (%) 

  . (20 ) 
. 

       ,  
 ,  .     -

    .    -
 (     ) –     

. 
  : 

 + O2 = CO2  

       
: 

n (CO2) = V(CO2) / V  = 1/22,4 = 0,045  

    

n (CO2) = n (C) = 0,045  

      : 

m ( ) = n( ) · M( ) =0,045 · 12 =0,54 . 

   (%)   : 

w(C) = m(C) /m( ) = 0,54/50 =0,01 · 100% =1%. 

:   (%)    1%. 
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 «   »  

1. (10 )      
11, 2, 15.      ? 

. 
     2   -

 He;   11 –   Na;   15 – -
  P.  

 He –   VIII  ,    , 
     .    1s2 . 

 Na –   I  ,  .  -
  1s22s22p63s1.    , Na -

  s- .    –  -
.       , -

    .     
,      .   

 ,     .  

2Na + 2H2O = 2NaOH + H2  

      NaH  

2Na + H2 = 2NaH 

     . 
 P –   V  ,  . -

  p- .    1s22s22p63s23p3. 
     +V.   

   .  -
    .    

 .    (P4)  
    ( ).   -

          -
.    .     -

        -
.      . 

      – -
, ,    ,  -

   . 
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: 

2P + 3Br2 = 2PBr3; 2P + 3Ca = Ca3P2 

     ,  
      PH3 –  -

      

Ca3P2 + 6H2O = 3 Ca(OH)2 + 2PH3  

2. (10 )      98  
H3PO4  40   ?   . 

.        
,  . .    ,   -

       -
   –       . 

   : 

 H3PO4 + 3NaOH = Na3PO4 + 3H2O  (1) 

 H3PO4 + 2NaOH = Na2HPO4 + 2H2O  (2) 

 H3PO4 + NaOH = NaH2PO4 + H2O  (3) 

      : 

n(H3PO4) = m (H3PO4) / M(H3PO4) = 98/98 = 1   

n(NaOH) = m (NaOH) / M(NaOH) = 40 / 40 = 1  

   ,     1:1 -
     (3)     

   – NaH2PO4 (  ). 
:       – NaH2PO4 .  

3. (15 ).   : 

   (II)    (II)   -
(II) 

. 
   

Fe + 2HCl = FeCl2 + H2 

    (II)  -
   .     , . . 

    .  
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FeCl2 + Na2CO3 = FeCO3 + Na2CO3 

 (II)  ,     
  –  ,   -

 .  , . .    , 
       

FeCO3 + 2HCl = FeCl2 + CO2 + H2O 

4. (10 ).    : ) ;  
)  ; )  . 

. 
)  H2S      , 

     

H2S  HS- + H+ 

HS–  S2- + H+ 

     ,    
  

)   KBr –  , .   
 . 

KBr = K+ + Br- 

       -
      HBr.    

  -  OH–,    H+.   
  . 

)      KOH   -
, ,   .    

 ,     - . -
  -      .  

5. (10 ).    - -
    ?   

 .  
. 
  Na2SO3      

 (+IV),   -  -
    ,  .   -

     . 

Na2SO3 + H2SO4 + KMnO4 = Na2 SO4 + MnSO4 + K2SO4 + H2O 
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C        
S+IV – 2e  S+VI –    
Mn+ VII + 5   Mn+ II –   

       . 
     .  -

   5,   –  2.    
 ,     

 .  
    :  

5Na2SO3 + 3H2SO4 + 2KMnO4 = 5Na2 SO4 + 2 MnSO4 + K2SO4 + 3H2O 

        
, ,  : 

Na2SO3 + 2H2S = 3S + 2NaOH + H2O 

6. (10 ).      3,2  -
 9,16 .     . 

. 
        

 ,      : 

n( ) = m ( ) / M( )  

n ( ) = V( ) / V  .  

       n ( ) = V( ) / V  = 
3,2/22,4 = 0,143  

     M( ) = m ( ) / n ( )= 
9,16/0,143 = 64 /  

:    64 /  

7. (15 ).     ,    
   ,     -

?       -
.  

. 
  ,  ,   

,      -
,  . 

  Na2SO4 + Ba(OH)2 = BaSO4 + 2NaOH  
  2Na+ + SO4 

2- + Ba2+ + 2OH-
 = BaSO4 + 2Na+ + 2OH-  
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    .     -
      . 

  NaOH + HCl = NaCl + H2O 
  Na+ + OH-

 + H+ + Cl-
 = Na+ + Cl- + H2O 

8. (20 ). ,  10,3 ,   ,   
,    .  

  4,48  .     -
  .    6,4 .   -

 (%)    . 
. 
  ,    : 

 Cu + HCl ; Mg + 2HCl = MgCl2 + H2  (1) 
 2Al + 6HCl = 2AlCl3 + 3H2   (2) 

   : 
n1(H2) / 1 = n(Mg) / 1 
n2(H2) / 3 = n(Al) / 2 
n2(H2) = 3n(Al) / 2 

n1(H2) + n2(H2) = V(H2) / VM = 4,48 / 22,4 = 0,2  
m(Mg) + m(Al) = m( ) – m(Cu) = 10,3 – 6,4 = 3,9  

n1(H2) + n2(H2) = n(Mg) + 3n(Al) / 2 = 0,2 
m(Mg) + m(Al) = M(Mg) · n(Mg) + M(Al) · n(Al) = 3,9 

: 
n(Mg) = x; n(Al) = y 

     . 
x + 3y / 2 = 0,2 
24x + 27y = 3,9 

x = n(Mg) = 0,05 ;  
y = n(Al) = 0,15  

w(Al) = m(Al) / m( ) = M(Al) · n(Al) / m( ) = 
= 27 · 0,15 /10,3 = 0,39 = 39% 

:   (%)      39% 
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